,ei/f—?-?a 1Ay rw)? '

front of that question nu
question. Write PAPER
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mber. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
11 beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) () (B) (A) QUESTIONS Q-1
ol ,37'/ 2 J’L;ML;“ £ -‘armus}nci.)u;; bl | 1
Value Rate Scale Place Mean is affected by change in
LU 4 A5 £bEn 154 - 0¥ S| 2
Fourpoints | SIgIePOINt | Two points | threc points | A tangent line touches the circle at
S i N o S LI Lop S e Gtk | 3
Incongruent { Congruent | Perpendicular Parallel The 'fms appositein nsongruentesntmbangles -l
of a circle are always
e fH2x ~50=0=hl- | 4
45 +5 +25 + e .
=) ) The solution set of equation 2x% —50 =is
! sin& sin@ 1 secOcotf =—=—=— 5 j
sin cos @ cos & i
v ] W/ 7 <§_VU;(L§(¢_}I; .6
Arc Segment_ Boundry Chord The circumference of a circle is called
~‘LJIA;"JU;JU: az’ +bz+c=0cblsGnn | 7
4 3 2 1 The number of terms in a standard quadratic equation ;
azt 4 bz+e=0is
3 -1 1 0 ,c‘._,ufb’wﬂ!uoééw 8 ’
Sum of the cube roots of unity is
h}n(Roots)«fu:C 3x2 =5x+7=0=bl- B a Sl o
EL ? = o et ALK 2B i 20
7 3 3 28 If &, f3 are the roots of 3x* —5x+7=0,then
product of the roots 2 and 28 is
.
1 44 1
., k 5 1 If tzoc—-3-,then ;‘«l 3;1 10
1e=— a2 B == 2 _p,3 u
] t=u - t°=ku
ﬁzd/u ,/l;'-'lﬁ.: LS u:b’; -J!Z,ng(d/’laufa:b::c:d_/l:'«' 11
. Concequent Thir.d Entremes Means Inaproportial a:b:ic:d, aanddare called
proportional
ehils =L sl ST Y e Li(x+3)P=x"+6x+9 | .12
| an Anidentity | Anequation ISR (x+3)2 =x>+6x+9 is
inequation equation
¢ {¢} {¢,{a}} {a} Power set of an empty set is -c‘-t’n_‘{uw\.‘gdl& 13
- (b#DomR #%R={(0,a),(2,b),(b,b), (b, c)}f! .14
0,a, G ) ;
{0,b,c} {a by (02,0} 19,25 The domain of R={(0,a),(a,b),(b,b),(b,c}is
L3k b5 Js /5 -{.VU({}:UI:L/fc_f/LK__/’D 15
Secant Circumference Radius Diameter | A chord passing through the centre of a circle is called

o S
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Part I

Answer briefly any Six parts from the followings.  6x2=12
Write two methods to solve quadratice equations.

Solve by Factorization 17x* +32x-4=0

Solve the equation using quadratic formula 5x% +8x+ 1>:‘0
Find the discriminant of the quadratic equation 9x* +25=30x
Evaluate (2+20—-20")(3-30+30%)
Write the quadratic equation having roots 4, 9
Define direct variation. ‘

Find a third proportional to (x— -y

lfyxé and y =4 . Find K when x =3

Answer briefly any Six parts from the followings. 6x2=12
Define rational fraction.

34

If = + then find the values of
(x+D(x-1) x+1 x-1

Aand B

Define intersection of two sets.

If X={14,7,9} and Y={2,4,5,9} then find X NY

If set M has 5 elements; then find the number of binary
relations in M.

1fA={a,b} and B={c,d} thenfind Bx 4

Define Mode.

Find the arithmetic mean for the following data
12,14,17,20,24,29,33,47

The salaries of the five teachers in rupees are as follow.

Find Range 11500, 12400, 15000, 14500, 14300

(P /ﬂ/

JJI
ez B i ge e tditn 2401y
‘.u.‘.‘i&)uéi./gffu;m/(juu i

17x* +32x-4=0.y /S A2k i

5x° +8x+1=0_ZEf c JrhGonfebl i
9x2 +25 = 30x - eI O e tsle G v
(2%2m— 20%)(3-3w+30%) EpPred v
2l .:JIJL/J./:»GUJJ/4 ,9 i
SIS i
(x—y)2 =y e B A i
_z:f’_;rk"_wfd/l{?x=3¥>.y =4y —1— Soix

I F iz B L g e $ e it -3 / iy
Ziﬂ/’ J/J’L i

}L"‘ “: /3 "6 > T 4 L di
el A e D= T) x+1+x—1fl

o e Lo i
EEH X Y InY={2,4,59h51%X={14,7.9} S v
o I S s S MUt IS M v

épbexAma {c,d} sia={a,b} S i

oy el i

B2 A NI EPS Iy 4 O R
12,14,17,20,24,29,33 ,47

Ut iendte s Skl ix

_&E b = 2~11500, 12400, 15000, 14500, 14800
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5.a.

Answer briefly any Six parts from the followings.

Define angle.

w .
Convert —4~ radian to degree

Find rwhen £ = 56cm , 0 =%rad

Prove that (1-sin®@)(1+tan?6) =1
Define obtuse angle.

Define circumcirlce.

Define chord of a circle.

Define arc.

Divide an arc of any length into four equal parts.

Part I

@
6x2=12 ez Limge § e ditn 440y

f &’ﬁ —/ 27 SIS S i
-J/J»faﬂdﬁfqg,% i

£ =56cm 9=—Z—rad .,24/_/()“"1' i

(1-sin?@)(1+tan? @) =1 est v
SV IR R
SISy i
S Pk i
@S i
iy s eSSV ix

r g ) I > g

Note: Attempt any Three Questions.Q.9 is compulsory. (8x3=24) & (§ }UQ/JV-L[f ez letrf e §ied

Solve the equation vx+3 =3x~1

Vx+3=3x-1.Z Fieil- a5

If a, f are the roots of the equation £x* + mx+n=0 Jun vl Ix + mx+n=0 bl pa S b

then find the value of a’§° + o> 8°

Find a fourth proportional to

pP+a,. 9% pP-pg+q’

2

+1
Resolve i
x +1

into partial fraction,

fU=N, A=¢, B=P thenprove that
(ANBY=AUPB

Determine variance.

-ép‘”@fcfawz +a*p’
<£(;L”./I:3-G?g .a.6

P+a, 0" -q", PP -pg+q’

2
ESE U Sems B L b
’ © +1

JSetIU=N,d=¢ ,B=PSi a7
(ANBY =4 UB
‘.u:/ﬁ:l”'cz;;"; .b

Student 1 2 3 4 S 6

Marks 60 | 70 | 30 | 90 | 80 | 42

H‘.,Ju 143 | 38 4,5 6
A 160 ] 70|30 o0 | 80| 4

If cos@ = :3—2— and terminal arm of the angle 6 is in quadrant JL}"nuﬁd/c/fﬁ;d@"lfﬁ «2lisl cos@ = -_5% S a8

I Find the values of reraaining trignometric functions. -é(}” u:’»g J J‘ QJQ;"‘

Draw two perpendicular tangents to a circle of radius 3 cm. ,ggvd)y",;ég_/’bL,l,u’luf3 .b

Prove that if two chords of a circle are congruent than they will el Soln e S /u;"umf ol st 9

be equidistant from the centre. Lun
e OR e - |

Prove that any two angles in the same segment of a circle are -u,‘li_ﬂ/,!/.(fg«un(‘}uuf u’u,.:b?uugza,,ué =

equal.

1022 - 1024 - 50000
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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
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front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

on the both sides of the Answer Sheet and fill bubbles accordingly,

(D) (€) (B) (A) QUESTIONS Q-1
u‘if/(;’ c;l:l/gf:c‘ bl $de JUed vg.fjd/y +377 4+ 6=0 bl 1
R X . Al ; . Ax 2-x
= Ri 1 Radical =
Eogrithesis ecnpr'oca adica Exgonentis] An equation of the type is 3* +3“" +6=0
equation equation equation equation
' 3 ;- 4 ad v
CLob e ('jL'aK.‘,uu/ e Kean Ll _‘g:i/c,i.fffx = 5x* =30x 2
2 ez e eSS Cancellation of X on both sides of 5x* = 30x
Lossoftwo [ Nolossof | Lossefone | Gainofone
means
roots any root root root
' X Y L7 3
,—3w, 2 -3,-3w,—3w?| -3, e 2 3 ) 2 ) & RN L &
3,-3w,3w 3,-3w,-3w 3,3w,~3w?* 3,3w,3w Cube roots of ~27 are
1,-1 w, w2 1,—w 1,0 Two square roots of unity are <w(‘§/!;ig»£_éﬂ 4
: -<;/;l/,a-:7unuf-"j/,i/,4 S sla+3:7+a )i .
16 15 14 13 f g
Ifthe ratios a+ 3:7+ aand 45 are equal then a is
= xXyv w L4 sewe AV L yiiviw | 6
Yy ' X v The fourth proportional wof x:y::v:wis
,_-_,,,l,.ﬁ?_,g /_.,2;, sl /‘/b,‘%b/:f 2x+1 ) . 2x+1 7
| am Aproper | Ap equation | Improper | (x+1)(x—1) T T (e D(x-D)
inequation fraction fraction
xed x¢ A x¢ A xed If x€ AN B ,then Jxe ANBA 8
and st and s/ and Js! and sl |
xeB x¢ B xeB xX¢B
{¢,a} {¢,{a}} {a} {4} The power set of an empty setis - bFsrleslesrde | 9
fuiF B Fush ¥, | dre ok 56| 10
Triangles Circles Rectangles Squares A histogram is a set of adjacent.
14 cos?6 |1 —tan26 | 1+ tan?@ | 1 — sin20 sec? @ = 11
/J/.r(/" ‘ /,U.;,;'(L? U’;)c/"; c.,}';u‘fuj _wgﬂuéf_’f'bd‘ug 12
Allequal | Allunequal | Double of <! Radii of a circle are
Half of any
v the diameter chord
,( o : be_b ,K"‘// | “Sinefe s’ -w&f unS PP L FeLe LS Ll | 13
Secant Tangent Cosine ) . . L . .
Secant of Tangentof | Cosine of a Sineofa | A line which has two points in common with a circle
circle circle circle circle is called of circle.
- ' .
A s o 2 504 % - it /]l |
v S S Jbr‘/! u“iduazéug,uu//d e :.:g 14
Perpendicular | Parallel Congruent | Incongruent Threeais BFpASH D HECH R -l
angles of a circle are always
_wégiyi.(kgfb'u(}j‘ ZLU:}I)L%L[J}) .15
1 4 3 2 How many common tangents can be drawn for two
touching circles?
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Part I it >
Answer briefly any Six parts from the followings.  6x2=12 LSz LR §fe pitn 2l
Define Pure quadratic equation. ngﬁ‘ﬂfl PQ’? -é_.éj/;(,(@blx&ﬂv(zg)u‘}l& A
Solve by factorization 4 —32x =17x2 4-32x=17x" ~£J’dff,g{/i; Bt
Write in standard form . + ! =3 1 o 1 =3 -uf’yutfwb»fu,u i
x+4 x-4 x+4 x-4 ;
Find the nature of roots of quadratic equation. 63’ ~8x+3=0 -”éﬂl”ruwf(/‘uéol;v&uu Jdv
6x" ~8x+3=0 |
Evaluate (1-3w-3w?)’ : A-30-30*Y .y /f «~
Write the quadratic equation having roots 1+7,1— 1+i,1-i -Unujuﬁuedfﬁgl;lzd.u» i
If yoc x and y=7 when x =3 Find K. ~’ji:r)L”K?nx=3..fey:7/;lnyoc x N i
Define proportion. » -é . et viii
Find a mean proportional between x° —yz 5 j;j}j x? —yz s ;C;jj .,Efi:r‘r‘-”‘\./bvl(j):/: ix
Answer briefly any Six parts from the followings.  6x2=12 1 f e B Litige §ie fditn 370
What is Partial Fraction. -g.&n&f// Uz i
Resolve le—l into Partial Fraction. -Z‘:(J.:gub/dfzfle—l i
Find 4’ ifU={1,2,3, 8} and A={2,3,5,7) 7 A=(2357) 1 U={123,.8) Sy o 4 i
Findaandbif (2a+5,3)=(7,b-4) (22+5,3)=07,b~4) Ly /pedfb sz v
Find LxM if L={b,c} and M={d , e} ot Lafb,c} sM={d, e} Jif/p LM
Write all Subset of the Set {a, b} : orF WL by e i
Define Mode. “E Il i
Find the arithmetic mean by direct method. ) -Z':’ r:L”' le(éL?c.JJ /:f{imf. Jviii
12,14,17,20,24,29,35,45 12,14,17,20,24,29,35,45
82,93,86,92,79 -Z b bk ix

Find median for the marks 82 ,93,86,92,79
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5.a.

6.a.

8.a.

Define degree.

-
6x2=12

G 229

Answer briefly any Six parts from the followings.

Convert 6.1 radians into degree.
Find the distance travelled by a cyclist moving on a circle of radius

15m, if he makes 4.5 revolution.
1
Findrwhen 6= Z radians , [=6cm

Define projection.
Define collinear points.
Define In-centre.
Define Escribed circle.

Define Polygon.

Part I

LI Fehn B L g e $ e psts A4y

YL

LS S8/ 6
/1?4.5“4}51SJIJJKLﬁf)ILL,/'i;yQ/lrJ?V..,{f
Wk 1z et

0 :% radians , 1= 6cm _.feg[/(}”‘r

SSwEE
S s
SIS i
i oSl
S S Z

r” ..... S

Note: Attempt any Three Quéstions.Q.9 is compulsory. ( 8x3=24) 9(,‘)119/.] Jlr'-u_"/ 4 /- ezl eyl =dfies

Solve the equation x5 +54=15x"

If @ , B are the roots of the equation 4x> —5x+6=0,
2 2
then find the value of —— + g
a

Ifa:b=c:d (a,b,c,d #0), then show that
a_ ’az +c?
b b +d?

Resolve into partial fraction

9x -7
(x+3)(x*+1)

1fU={1,2,3,.,20} X={1,3,5,7,9,15,18,20} Y={13,5,.,17}
thenprovethat Y —X =Y n X'

Find standard deviation for data

11500, 12400, 15000, 14500, 14800

The given point P(3 ,-2) lies on the terminal side of @ . Find
quadrant of & and all six trigonometric ratios.

Escribe a circle opposite to vertex ‘C'to a ABC with sides
|4B|=5 cm , |BC|=3 cm and [CA|=3 cm

Prove that If two chords of a circle are congruent then they
S ¢ )} SN—

Prove that any two angles in the same segment of a circle are

will be equidistant from the centre.

equal.

x5 +54=15x" S S et

Jus L 432 =524 6=0=bea , § /1
2 2

~ N e d St in
g «

S =¥ (a,b,c,d £0) a:b=c:d I

EI__ az +62

b Vbp*+d?

9x-7 . 4 .
S s ez

(x+3)(x*+1) ~
X={1,3,5,7.9,15,1820} U={1,23,..20} i
Y-X=YNnX SZek) v={135,.,17)
SZE e S A el
11500, 12400, 15000, 14500, 14800
Ko ,;:},4,(‘5 G L @ a15eP(3,-2) L35
S A V- T R P
L& S Se¥ ABC elofe L 'C
I3 S VLS CA 1 BC <AB G
-us
e ruiunf EomL e /i Sk
TR - L s Lol
ujl_n/.l/.ﬂrUﬂéth/’bﬂd’b{lﬁg;li’q{cA‘
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